PERCENTAGE COMPLETE FOR ASSIGNED ITEMS

(copy and paste text into a data set to test)
Caution: * This query does not include any item where zero users are complete. See pg 5 for query with incomplete
SELECT sa.cpnt_typ_id ITEM_TYPE_ID, sa.cpnt_id ITEM_ID, sa.rev_dte ITEM_REV_DATE, cp.cpnt_title ITEM_TITLE, 
sa.assigned, 
sc.completed, 

Round(((sc.completed/sa.assigned) * 100), 2) pct_cmpl
FROM
(SELECT count (stud_id) assigned, 
cpnt_id, cpnt_typ_id, rev_dte


FROM 

(SELECT psc.stud_id, psc.cpnt_id, psc.cpnt_typ_id, psc.rev_dte

from pa_stud_cpnt psc, pa_student st



where psc.stud_id = st.stud_id 


AND st.org_id = 'HR'



UNION

select sq.stud_id, sq.cpnt_id, sq.cpnt_typ_id, sq.rev_dte

from pa_stud_qual_cpnt sq, pa_student st

where sq.stud_id = st.stud_id 

 AND st.org_id = 'HR')
group by cpnt_typ_id, cpnt_id, rev_dte) sa, 


   (SELECT count (stud_id) completed, cpnt_id, cpnt_typ_id, rev_dte


     FROM 

(SELECT psc.stud_id, psc.cpnt_id, psc.cpnt_typ_id, psc.rev_dte

FROM pa_stud_cpnt psc, pa_cmpl_stat cmp, pa_student st

where psc.stud_id = st.stud_id 

AND psc.cmpl_stat_id = cmp.cmpl_stat_id

AND cmp.provide_crdt = 'Y'

AND st.org_id = 'HR'

UNION

SELECT sq.stud_id, sq.cpnt_id, sq.cpnt_typ_id, sq.rev_dte

FROM pa_stud_qual_cpnt sq, pa_cmpl_stat cmp, pa_student st

WHERE sq.stud_id = st.stud_id


AND sq.cmpl_stat_id = cmp.cmpl_stat_id


AND cmp.provide_crdt = 'Y'


AND st.org_id = 'HR')

group by cpnt_typ_id, cpnt_id, rev_dte) sc, 



pa_cpnt cp
WHERE sc.cpnt_id = sa.cpnt_id


AND sc.cpnt_typ_id = sa.cpnt_typ_id


AND sc.rev_dte = sa.rev_dte


AND sc.cpnt_id = cp.cpnt_id


AND sc.cpnt_typ_id = cp.cpnt_typ_id


AND sc.rev_dte = cp.rev_dte
ORDER BY PCT_CMPL
BREAK DOWN THE QUERY LINE-BY-LINE
SELECT sa.cpnt_typ_id, sa.cpnt_id, sa.rev_dte, cp.cpnt_title, 
Select item type ID, item type, rev date, item title
    sa.assigned, 





Select the count of user IDs from sa  - see “count results of 2”
    sc.completed, 





Select the count of user IDs from sc  - see “count results of 3”
    ROUND(((sc.completed / sa.assigned) * 100), 2) pct_cmpl
Calculate % of completed vs assigned, round to 2 decimals
   FROM
PA_CPNT cp,





Complex FROM statement with sub selects

( SELECT COUNT (stud_id) assigned, 
Count user IDs and alias this result assigned


cpnt_id, cpnt_typ_id, rev_dte
to find number users who are assigned items


     FROM 



(  SELECT sc.stud_id, sc.cpnt_id, 
Start second sub-select statement with UNION


      sc.cpnt_typ_id, sc.rev_dte



        FROM pa_stud_cpnt sc, pa_student st 


get items assigned via stand-alone item


        WHERE sc.stud_id = st.stud_id



AND st.org_id = 'HR'



UNION

UNION = combined results of 2 SELECT statements with no duplicates



SELECT sq.stud_id, sq.cpnt_id, 





sq.cpnt_typ_id, sq.rev_dte





FROM pa_stud_qual_cpnt sq, pa_student st 
get items assigned via curriculum





WHERE sq.stud_id = st.stud_id 







AND st.org_id = 'HR' )









GROUP BY cpnt_typ_id, cpnt_id, rev_dte )   sa , 
Count ALL items assigned – alias as sa 










Then run next SELECT COUNT to get items











for the next GROUP BY that counts completed




( SELECT COUNT (stud_id) completed,

Count user IDs and call this result completed




cpnt_id, cpnt_typ_id, rev_dte


to find number of users with completed items




FROM 






( SELECT psc.stud_id, psc.cpnt_id, psc.cpnt_typ_id, psc.rev_dte      successfully completed





     FROM PA_STUD_CPNT psc, 


  
assigned as standalone






PA_CMPL_STAT cmp, pa_student st 







WHERE psc.stud_id = st.stud_id 









AND psc.cmpl_stat_id = cmp.cmpl_stat_id









AND cmp.provide_crdt = 'Y'









AND st.org_id = 'HR'

         for users in specific org





UNION 




UNION = results of 2 SELECT statements






SELECT sq.stud_id, sq.cpnt_id, sq.cpnt_typ_id, sq.rev_dte   successfully completed







FROM pa_stud_qual_cpnt sq,  


assigned as curriculum







pa_cmpl_stat cmp, pa_student st








WHERE sq.stud_id = st.stud_id









AND sq.cmpl_stat_id = cmp.cmpl_stat_id









AND cmp.provide_crdt = 'Y'









AND st.org_id = 'HR' )


for users in specific org










GROUP BY cpnt_typ_id, cpnt_id, rev_dte )   sc, 

get count of completed, alias as sc
    WHERE sc.cpnt_id = sa.cpnt_id


WHERE items assigned = items completed
    
AND sc.cpnt_typ_id = sa.cpnt_typ_id 

only count items where at least ONE user has completed the item

AND sc.rev_dte = sa.rev_dte


AND sc.cpnt_id = cp.cpnt_id


AND sc.cpnt_typ_id = cp.cpnt_typ_id


AND sc.rev_dte = cp.rev_dte

SIMPLIFIED LOGIC – here is one way to think of the query:
SELECT sa.cpnt_typ_id, sa.cpnt_id, sa.rev_dte, cp.cpnt_title, 
    sa.assigned, sc.completed, ROUND(((sc.completed / sa.assigned) * 100), 2) pct_cmpl
   FROM  sa , sc, PA_CPNT cp         




    WHERE sc.cpnt_id = sa.cpnt_id




AND sc.cpnt_typ_id = sa.cpnt_typ_id


AND sc.rev_dte = sa.rev_dte


AND sc.cpnt_id = cp.cpnt_id


AND sc.cpnt_typ_id = cp.cpnt_typ_id


AND sc.rev_dte = cp.rev_dte

RUN INDIVIDUAL CHUNKS -  CLAUSE MARKED IN YELLOW HIGHLIGHTING IS OPTIONAL IF YOU WANT

TO LIMIT THE QUERY TO JUST ONE ITEM FOR WHICH YOU KNOW THE CORRECT ANSWER/COUNT
-- COUNT ASSIGNED BY FREESTANDING

SELECT COUNT (psc.stud_id) assigned_standalone, psc.cpnt_id, 

      psc.cpnt_typ_id, psc.rev_dte


        FROM pa_stud_cpnt psc, pa_student st 

        WHERE psc.stud_id = st.stud_id

          
AND psc.cpnt_id = 'ADM0100'
GROUP BY cpnt_typ_id, cpnt_id, rev_dte;

--COUNT ASSIGNED BY CURRICULUM

SELECT COUNT (psqc.stud_id) assigned_curriculum, psqc.cpnt_id, 

      psqc.cpnt_typ_id, psqc.rev_dte


        FROM pa_stud_qual_cpnt psqc, pa_student st 

        WHERE psqc.stud_id = st.stud_id

          
AND psqc.cpnt_id = 'ADM0100'
GROUP BY cpnt_typ_id, cpnt_id, rev_dte;

--COUNT ALL ASSIGNED VIA UNION

SELECT COUNT (stud_id) curr_complete, cpnt_id, cpnt_typ_id, rev_dte


  FROM 

        (SELECT psc.stud_id, psc.cpnt_id, psc.cpnt_typ_id, psc.rev_dte

        FROM pa_stud_cpnt psc, pa_student st 

        WHERE psc.stud_id = st.stud_id

        
AND psc.cpnt_id = 'ADM0100'
    UNION

        SELECT sq.stud_id, sq.cpnt_id, 


sq.cpnt_typ_id, sq.rev_dte

          FROM pa_stud_qual_cpnt sq, pa_student st 

          WHERE sq.stud_id = st.stud_id 


AND sq.cpnt_id = 'ADM0100'
)




GROUP BY cpnt_typ_id, cpnt_id, rev_dte;

-- COUNT COMPLETE BY FREESTANDING

SELECT COUNT (psc.stud_id) freestand_completed, psc.cpnt_id, psc.cpnt_typ_id, psc.rev_dte


   FROM PA_STUD_CPNT psc, PA_CMPL_STAT cmp, PA_STUDENT st

   WHERE psc.stud_id = st.stud_id

    AND psc.cmpl_stat_id = cmp.cmpl_stat_id

         AND cmp.provide_crdt = 'Y'

         and st.notactive = 'N'


 AND psc.cpnt_id = 'ADM0100'
         GROUP BY psc.cpnt_typ_id, psc.cpnt_id, psc.rev_dte;
-- COUNT COMPLETE BY CURRICULUM

  SELECT COUNT (sq.stud_id) as curr_completed, sq.cpnt_id, sq.cpnt_typ_id, sq.rev_dte

      FROM PA_STUD_QUAL_CPNT sq, PA_CMPL_STAT CMP, PA_STUDENT st

      WHERE sq.stud_id = st.stud_id


AND sq.cmpl_stat_id = cmp.cmpl_stat_id

        AND cmp.provide_crdt = 'Y'


AND sq.cpnt_id = 'ADM0100'
           GROUP BY sq.cpnt_typ_id, sq.cpnt_id, sq.rev_dte;

--COUNT ALL COMPLETE VIA UNION

SELECT COUNT (stud_id) completed, cpnt_id, cpnt_typ_id, rev_dte


FROM 

(SELECT psc.stud_id, psc.cpnt_id, psc.cpnt_typ_id, psc.rev_dte  

   FROM PA_STUD_CPNT psc, PA_CMPL_STAT cmp, PA_STUDENT st


 WHERE psc.cmpl_stat_id = cmp.cmpl_stat_id


 AND cmp.provide_crdt = 'Y'


 AND psc.cpnt_id = 'ADM0100'
      UNION 

  SELECT sq.stud_id, sq.cpnt_id, sq.cpnt_typ_id, sq.rev_dte

    FROM PA_STUD_QUAL_CPNT sq, PA_CMPL_STAT CMP, PA_STUDENT st


 WHERE sq.stud_id = st.stud_id


   AND sq.cmpl_stat_id = cmp.cmpl_stat_id


   AND cmp.provide_crdt = 'Y'


   AND sq.cpnt_id = 'ADM0100'

)

GROUP BY cpnt_typ_id, cpnt_id, rev_dte;

NOTES

For each query, you can remove AND st.org_id = 'HR' or edit the entry to run this report for just one organization.
Or replace AND st.org_id = 'HR' with commented text:

 /** AND st.org_id in [OrganizationSearch] */ and give admin search selector to choose which orgs to include
Then you can use a PRD group on the data, based on organization to get subtotals.

* KSO has also developed a sub-select to limit your query based on roll up to a specific parent organization. 

QUERY THAT INCLUDES COMPLETE ITEMS FOR WHICH ZERO USERS ARE COMPLETE

AND TOTALS FOR ASSIGNED and COMPLETED BASED ON SUPERVISOR HIERARCHY
NOTE: TO TEST – YOU MUST PROVIDE A VALUE FOR THE “?” PARAMETER IN EACH SUBSELECT

SELECT sa.cpnt_typ_id ITEM_TYPE_ID, sa.cpnt_id ITEM_ID, sa.rev_dte ITEM_REV_DATE

, sa.assigned as ASSIGNED 

, NVL(sc.completed, 0) AS COMPLETED

, NVL(Round(((sc.completed/sa.assigned) * 100), 2), 0) as pct_cmpl

FROM

(SELECT count (stud_id) assigned, cpnt_id, cpnt_typ_id, rev_dte


FROM 

(SELECT psc.stud_id, psc.cpnt_id, psc.cpnt_typ_id, psc.rev_dte

from pa_stud_cpnt psc, pa_student st


where psc.stud_id = st.stud_id
  AND psc.stud_id in

             (SELECT st.stud_id

              FROM PA_STUDENT st

              START WITH st.super = ?
              CONNECT BY PRIOR st.stud_id = st.super) 

UNION

SELECT sq.stud_id, sq.cpnt_id, sq.cpnt_typ_id, sq.rev_dte

FROM pa_stud_qual_cpnt sq, pa_student st

WHERE sq.stud_id = st.stud_id
AND sq.stud_id in

             (SELECT st.stud_id

              FROM PA_STUDENT st

              START WITH st.super = ?
              CONNECT BY PRIOR st.stud_id = st.super) 

)

GROUP BY cpnt_typ_id, cpnt_id, rev_dte) sa

, 

   (SELECT count (stud_id) completed, cpnt_id, cpnt_typ_id, rev_dte

     FROM 

(SELECT psc.stud_id, psc.cpnt_id, psc.cpnt_typ_id, psc.rev_dte

FROM pa_stud_cpnt psc, pa_cmpl_stat cmp, pa_student st

WHERE psc.stud_id = st.stud_id
AND cmp.cmpl_stat_id = psc.cmpl_stat_id(+)

AND cmp.provide_crdt(+) = 'Y'

AND psc.stud_id in

             (SELECT st.stud_id

              FROM PA_STUDENT st

              START WITH st.super = ?
              CONNECT BY PRIOR st.stud_id = st.super) 

UNION

SELECT sq.stud_id, sq.cpnt_id, sq.cpnt_typ_id, sq.rev_dte

FROM pa_stud_qual_cpnt sq, pa_cmpl_stat cmp, pa_student st

WHERE sq.stud_id = st.stud_id (+)


AND cmp.cmpl_stat_id = sq.cmpl_stat_id(+)


AND cmp.provide_crdt(+) = 'Y'

AND sq.stud_id in

             (SELECT st.stud_id

              FROM PA_STUDENT st

              START WITH st.super = ?
              CONNECT BY PRIOR st.stud_id = st.super) 

  )

GROUP BY cpnt_typ_id, cpnt_id, rev_dte) sc, 

PA_CPNT cp

WHERE sa.cpnt_id = sc.cpnt_id(+)


AND sa.cpnt_typ_id = sc.cpnt_typ_id (+)


AND sa.rev_dte = sc.rev_dte (+)


AND sa.cpnt_id = cp.cpnt_id


AND sa.cpnt_typ_id = cp.cpnt_typ_id


AND sa.rev_dte = cp.rev_dte

ORDER BY assigned desc, completed desc
“sa” is alias for grouped results of this sub-select. Grouping is needed for SQL to count the records.


This query locates and counts all users who are ASSIGNED the item





“assigned” is alias for count of stud IDs assigned each item





“sc” is alias for grouped results of this sub-select. 


This query locates and counts all users who have COMPLETED an  item from their learning plan











“pct_cmpl” is alias for summarized results of subqueries





“completed” is alias for count of stud IDs who have COMPLETED the item





This query can be hard-coded for one organization or other attribute from PA_STUDENT.


Or admin can select just one attribute when generating the report.





To see example of this report grouped by organization, refer to the � HYPERLINK "http://kso-train.com/content/plateau/PRD/JobAids_and_Resources/JobAid.docx" ��job aid catalog�





The query in plain English:


SELECT fields (see rows #1 through 5


FROM  a count of users assigned items via curricula or free standing


AND (UNION)


FROM a count of users who have completed their assigned items


CALCULATE percent complete as no. completed divided by no. assigned





NOTES:  This query only includes completion percentage for assigned items. Items from learning history are excluded if they are not in PA_STUD_CPNT or PA_STUD_QUAL_CPNT.





UNION combines records found in either SELECT statement
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